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1º BACHILLERATO                                                                             MATEMÁTICAS I 

UNIDAD 2: ECUACIONES Y SISTEMAS  

ECUACIONES 

1. 1
9

74
3

7
3

4









 x

x
xx      x1=21, x2= 5 

2. 02032 24  xx        x1= - 2 , x2= 2 

3. 21619 36  xx         x1= 3, x2= -2 

4. 246161 





 






 

x
x

x
x       x1= 3, x2= - 3, x3= 2, x4= - 2 

5. 1202 33  xx          x1= 4 

6. 024048  xx           x1= - 2, x2= 2 

7. 1224 22  xxxx      x1=3, x2= 5/7 

8. 0
9

28
4

32
2

2







x
x

            x1=5, x2=-5, x3= 4, x4=-4 

9. 11213  xx                  x1=1, x2= 5 

10. 
3

1259 


xx                           x= -5 

11.  4x + 1 + 2x + 3 – 320 = 0                              x=3 

12.  32(x + 1)  - 28·3x + 3 = 0                           x1 =1,   x2 =-2 

13.  22x + 22x – 1  + 22(x – 1) + 22x – 3 + 22(x – 2) = 1984        x=5  

14.  2x – 1 + 2x – 2  + 2x – 3  + 2x – 4  = 960         x =10 
15.  3x  + 31 – x  = 4                               x1 =0 ,  x2 =1 

16. 8
1212 x

                                  x1=2,  x2=-2 

17.  (x2-5x+9)lg2 + lg125 = 3      x1 = 2 y x2 = 3 
 
18.  lg(22 - x)2 + x + lg1250 = 4         x1 = -1 y x2 = 1 
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19.  2
)5lg(

)11(lg2lg 2





x
x

                    x1=3, x2=1/3 

20.  (x2-4x+7)lg5 + lg16 = 4            x1=1, x2=3 

21.  3lgx - lg32 = lg(x/2)                   x = 4 

22. 9
323

3
2

2
5 lgxlgxlgxlg       x = 3 

23.  2lg x =3 + lg (x/10)                 x = 10 
 

SISTEMAS 

24.  










3
5
15

y
x
yx

       (5, 3),  (- 5, - 3) 

25.  







255
1055

22

22

yxyx
yxyx      (2, 1), (2, 4), (3, 1), (3, 4) 

26.    







043
7

yx
yxyx       (4, 3), (- 4, - 3) 

27.  













2965
11532

2

zyx
zyx

zyx
      (1, -2, 3) 

28.  













132
122

13

zyx
zyx
zyx

      (1/7, 13/14, 3/2) 

29.  













0
4562

1

zyx
zyx

yx
      (3/2, 1/2, 2) 

30.  













423
222

2

zyx
zyx

zyx
      (1, -2, 3) 

 


